Aeec GSE Pre-Calculus |
Study Guide Unit 6 — Conics

Eliipses

In Exercises 1-6, ma%ah the equatiun with its graph.
[The graphs are labeled (2), (b), (¢), (), (e), and (F).]
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fiud the center, vertices, foct of The ellipse, and Sketch its graph.

Name:

" equation of the elfipse with {ts center at the origin. "
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29, Vertices: (%6, 0); Foci: (2, 0)
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ﬁnd t!ie standard form of the
" quation of the specified ellipse,
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39 Vertices: (0, 4}. (4, 4); Minor axis of length 2

. 40, Faci:0. 0), (4, 0); Major axis of length 8

"j-.:.u, Foci: (0. 0}, {0, 8): Major axis of length 16

o Center: (2 —1); Vertex: (2.1 Minor axis of
i length 2

L, Vertices: (3, 1), (3.9): Miner axis oflengfhﬁ

4') Fireplace Arch A ﬁreplace archis ta be builtin the
- shape of a semietlipse. The opening is to have a
- height of 2 feet at the center and a width of 6 feet
" along the base. The contractor draws the. outline of
", the eHipse using the method described on page 705.
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Hyperbolas '

o Egaivises1-4; Hkith the equa’ﬁa‘n +ih its graph.
[The graphs are labeled (a), (b, (c), and (d}.]
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___._/iind the center. vertices, foel, and
ﬁﬁﬂ'ﬂ“‘@gﬁﬂ@ﬁ af me hyperbola, and skeich iis graph,
veing thee meymptotes as an aid.
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jﬁn_d the standard form of x
egiation of the specified hyperbola.

- 23, Wegiess: (0, 2% Foci: (0, £4).
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A 26 Vemces (0. £3); Asymptotes: v = +3x
* 27, Foci: (0.£8): Asymptotes: y = b
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& Hyperbolic Mirror A hyperbohc mirror (used in
oS ielescopes) has the property that o light ray
directed Gt a0 focus will be reflected to the other
Wes, The focus of a hyperbolic mirror has coordi-

© . %aws (24,0), Find the veriex of the mirror if its

meunt s coordinates {24, 24).

In Exercises 44«51, classify the. graph of the &4uation

as a circle, a parabola, an elilpse, or @ hyperbola.
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48, 4x* + 3y 4 8y = 2y + 51 =0
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